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QUESTION 1

Which option is true about the BMQL statements in a library function? 

A. BMQL statements can query both user-created and system-defined data tables by using two separate queries. 

B. BMQL statements can query only system-defined data tables. 

C. BMQL statements can query both user-created and system-defined data tables by using a single query. 

D. BMQL statements can query only user-defined data tables. 

Correct Answer: A 

 

 

QUESTION 2

A customer maintains a high-volume data table, which holds the discounts that are applicable to products. The discount
information is needed in various sections in the pricing function to calculate line item prices. It has been identified that
the 

data table queries to fetch the discounts are significantly degrading the performance of the Commerce pricing function. 

Which option will improve performance? 

A. indexing the Util library functions 

B. performing one BMQL query for the data table, storing the results in dictionaries, retrieving the values from the
dictionaries, and using them wherever needed 

C. splitting the function into multiple Util library functions 

D. splitting the function into multiple Commerce library functions 

Correct Answer: B 

 

 

QUESTION 3

You have implemented a Commerce Hiding rule, which has an Advanced action. While unit testing, you find that the
attributes specified in the rule are not getting hidden, even though the specified condition evaluates to true. What are
two possible reasons for this behavior? 

A. The rule is inactive. 

B. There is a syntax error in the Advanced condition. 

C. Config was not deployed after the rule was implemented. 
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D. Commerce was not deployed after the rule was implemented. 

Correct Answer: BC 

 

 

QUESTION 4

Which two statements are false regarding Arrays? 

A. You can re-order the attributes to adjust the layout. 

B. You can add HTML type attributes to the Arrays. 

C. You can add Single select type attributes to the Arrays. 

D. Arrays support ajax based rules. 

Correct Answer: AD 

 

 

QUESTION 5

Which three Configuration rules support table-based lockups? 

A. Recommended Item rule 

B. Configuration Flow rule 

C. Recommendation rule 

D. Hiding rule 

E. Constraint rule 

Correct Answer: ABD 
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